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1 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00 | 0.00 ~ 4.67 58.18 | Z#nList | 0.00 ~ 0.00 | 1.62 8.18 zh s 1.00| 500 ~ 5.00 58.18 | Z#nlist | 5.00 ~ 500 | 1.62 8.18
9 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 000 ~ 504 62.80 | Zn st | 000 ~ 0.00 | 1.67 8.46 zh s 1.00| 500 ~ 540 62.80 | Zn LISt | 5.00 ~ 540 1.67 8.46
3 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00 | 0.00 ~ 492 6135 | ZnList | 000 ~ 0.00 | 1.72 8.70 zhs 1.00| 500 ~ 520 6135 | Znblist | 5.00 ~ 520 1.72 8.70
4 100kN/mM#%#B x5 - -~ - —|3mZEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00 ]| 000 ~ 464 57.89 | ZnList | 000 ~ 464 | 1.86 9.38 zhs 1.00| 500 ~ 5.00 57.89 | ZnList | 5.00 ~ 500| 1.86 9.38
100kN/mM#%#B x5 ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM%#BZ % ~ 3ImZHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImZHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImzHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/mM%#B 2% ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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